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A priori / A posteriori 

Artificial intelligence: a guide to intelligent systemsMichael 

Negnevitsky 

EHp(H|E)=0.3p(H)=0.1CF

E=>H 

(.362و  361)صفحات  Durkinكتاب  12فصل  8و  7،5سوالات 



A = {0, 0.1, 0.2, 0.8, 1}, B={0, 0.5, 0.5, 0.5, 1}
(𝐴 ∪ 𝐵) ⊂ (𝐴 ∩ 𝐶)

A = {1/1, 0.8/2, 0.4/3, 0.2/4}, B={0.2/1, 0.8/2, 0.4/3, 1/4}, C = {0/1, 0.6/2, 0.7/3, 1/4} 
D=A+B+2C

COG

highlonguniverse of 

discourse{0,50,100,150,200}{1,2,3,4,5,6,7,8,9,10}

 

IF speed is high, THEN stopping_distance is long 
μ(high) = {0/0, 0.1/50, 0.4/100, 0.8/150, 1/200},   μ(long) = {x/10|x ϵ universe of discourse 
stopping_distance} 

very high

monotonic

μ (A) = 0.2/0.1 + 0.6/0.5 + 1/0.9,  μ (B) = 0.1/0.1 + 0.3/0.5 + 1/0.9 
A and (not B)A or BA=>B 

tall

μ(tall) = 0.125/5.5 + 0.5/6 + 0.81/6.5 + 1/7 + 1/7.5 + 1/8 

very tallmore or less tall

aggregation

  


